
Lingenfelter Performance Engineering
1557 Winchester Road

Decatur, IN 46733
(260) 724-2552 

(260) 724-8761 fax
www.lingenfelter.com

Revision - 1.3 Release date: 1 July 2015

Lingenfelter LSA Idler Pulley Relocation Bracket
Installation Instructions

PN: L220636509



Page 1.	

Parts List
	 #	 Description							       Part number
	 1	 Aluminum relocation bracket, black anodized						      XX03873-0009
	 3	 Stainless socket head cap screw, M8 x 1.25 x 35mm					     47546
	 1	 Stainless socket head cap screw, M8 x 1.25 x 35mm					     47544
	 1	 Lingenfelter decal									         L920010000
	 1	 Instructions										          N/A

•	 Torque wrench
•	 Socket wrench
•	 13mm socket

Optional Items
	 #	 Description							       Part number
	 1	 LSA damper kit (SC pulley required)							       L220050709
	 1	 Stock diameter LSA pulley for LPE LSA damper, 8 rib, 7.87”				    L220646509
	 1	 6% OD LSA pulley, 8.25”, for LSA damper kit						      L220060709
	 1	 11% OD LSA pulley, 8.66”, for LSA damper kit						      L220070709
	 1	 18% overdrive LSA damper pulley, 9.17” OD						      L220170709
	 1	 23% overdrive LSA damper pulley, 9.55” OD						      L220290709
	 1	 28% overdrive LSA damper pulley, 10” OD						      L220380709
	 1	 LSA supercharger 9.73” 10 rib overdrive pulley						      L220450709
	 1	 LSA Idler Pulley Relocation Bracket Kit							       L220636509
	 1	 LPE LSA 2.38” 8 rib 10 bolt pulley							       L220310709
	 1	 LPE LSA 2.55” 8 rib 10 bolt pulley							       L220300709
	 1	 LPE 10 bolt supercharger pulley hub kit 							      L250150309
	 1	 2.55” 8 rib pulley, press-on							       L220030709
	 1	 Lingenfelter 76mm idler pulley kit							       L250120309
	 1	 Lingenfelter 90mm idler pulley kit							       L250260090
	 1	 Lingenfelter 100mm idler pulley kit							       L250130309
	 1	 0.200” idler pulley spacer (required for a 76mm lower idler pulley)			   ATI915992
	 1	 0.350” idler pulley spacer (required for 76mm, 90mm, or 100mm upper idler pulleys)	 ATI915993
	 1	 LSA 160 degree thermostat							       L310065307
	 1	 LSA 174 degree thermostat 							       L310155307
				  

Tools & Materials Required
•	 15mm socket
•	 8mm Allen socket
•	 6mm Allen socket



Page

Thank you for purchasing the Lingenfelter Performance Engineering (LPE) LSA idler pulley relocation 
kit.  This kit provides the required additional clearance between the lower idler pulley and a larger 
aftermarket supercharger drive crank pulley.  Refer to Table 1 on page 5 for a list of different 
Lingenfelter belt and pulley combinations.  As shown in the table, installing a LPE supercharger drive 
crank pulley with a diameter of 9.17” or larger will require the LPE LSA idler pulley relocation kit. LPE 
does not recommend using idler pulleys less than 70mm in diameter to achieve the needed clearance 
because this increases the speed of the pulleys significantly resulting in bearing failure of the idler 
pulley.

Read the entire instruction manual before beginning installation.  Some stock parts may be 
used in reassembly.

These instructions assume that you have already removed the components necessary to 
remove the stock idler pulley bracket.

When referencing the side of the vehicle, the driver side of the vehicle is considered the left 
side and the passenger side of the vehicle is considered the right side of the vehicle.

Torque value warning - the torque values for the fasteners are provided in metric (Nm) and 
then imperial units. For the imperial units some are referenced in lb-ft and others in lb-in. Make 
sure you make note of the difference and set your torque wrench correctly.

2.	



Page

1.	 Using a 15mm socket, remove the upper 
and lower idler pulleys from the idler pulley 
bracket.

2.	 Using a 13mm socket, remove the four (4) 
bolts that secure the idler pulley bracket 
to the engine block.  If you want to reuse 
the stock bolts instead of the LPE-supplied 
socket head cap screws, be sure to save the 
stock bolts for reinstallation.

3.	 Remove the stock idler pulley bracket.

4.	 Install the LPE-supplied socket head cap 
screws (or the stock idler bracket bolts 
if desired) into the LPE-supplied idler 
pulley relocation bracket.  The adjacent 
illustration shows the proper location for the 
M8x1.25x35mm socket head cap screws 
(PN: 47546, shown by the red arrows) and 
the M8x1.25x25mm socket head cap screw 
(PN: 47544, shown by the yellow arrow).

3.	



Page

5.	 Install the LPE-supplied idler pulley relocation 
bracket onto the water pump at the same 
location where the stock idler pulley bracket 
once was.  Torque the fasteners to 37 ft-lb (50 
N·m).

6.	 Install the lower idler pulley.  If you are 
reinstalling the stock 70mm lower idler pulley,  
the stock bolt can be reinstalled using a 13mm 
socket.  Installing an aftermarket idler pulley 
will require the use of a pulley spacer.  If 
you are installing a LPE 76mm idler pulley, 
install the .200” spacer (PN: ATI915992) and 
M10x1.5x60mm socket head cap screw (PN: 
47559) that is supplied in the LPE idler pulley 
kit.  Use an 8mm Allen socket to tighten the 
socket head cap screw.  Torque the bolt to 37 
ft-lbs (50 N·m).

7.	 Install the upper idler pulley.  If you are 
reinstalling the stock 90mm upper idler pulley, 
the stock bolt can be reinstalled using a 
13mm socket.  Installing an aftermarket idler 
pulley will require the use of a pulley spacer.  
If you are installing a LPE 76mm, 90mm, or 
100mm idler pulley, install a .350” spacer(PN: 
ATI915993), which is available for purchase 
through LPE.  Use an 8mm Allen socket to 
tighten the M10x1.5x60mm socket head cap 
screw  Torque the bolt to 37 ft-lbs (50 N·m).

8.	 Reinstall all other components removed 
to provide the necessary clearance for the 
bracket installation.

Installation of the LPE LSA idler pulley 
relocation bracket is now complete.

4.	



Page 5.	

Ta
bl

e 
1 

- b
el

t l
en

gt
h 

an
d 

id
le

r p
ul

le
y 

di
am

et
er

s 
re

qu
ire

d 
fo

r d
iff

er
en

t L
SA

 s
up

er
ch

ar
ge

r p
ul

le
y 

an
d 

da
m

pe
r p

ul
le

y 
co

m
bi

na
tio

ns
.

C
ra

nk
 P

ul
le

y
P

N
(C

ra
nk

 o
nl

y 
O

D
%

)

S
up

er
ch

ar
ge

r 
P

ul
le

y
S

up
er

ch
ar

ge
r

P
ul

le
y 

P
N

B
el

t l
en

gt
h

B
el

t P
N

(im
pe

ria
l)

B
el

t P
N

(m
et

ric
)

U
pp

er
 Id

le
r

Lo
w

er
 Id

le
r

Id
le

r B
ra

ck
et

(P
N

)
P

ul
le

y 
R

at
io

To
ta

l
O

D
%

S
C

 S
pe

ed
 @

 
65

00
 R

P
M

 
E

ng
in

e 
S

pe
ed

st
oc

k 
7.

8”
(L

22
06

46
50

9)
(0

%
)

st
oc

k 
3.

0”
*

st
oc

k 
16

80
m

m
12

62
80

26
 (G

M
)

st
oc

k 
90

 m
m

st
oc

k 
70

 m
m

st
oc

k

2.
6

N
/A

16
,9

00

2.
55

” p
re

ss
-o

n
L2

20
03

07
09

16
55

m
m

/6
5.

2”
K

08
06

53
8P

K
16

55
3.

1
18

%
19

,9
00

2.
55

” 1
0 

bo
lt

L2
20

30
07

09

2.
38

” 1
0 

bo
lt

L2
20

31
07

09
16

43
m

m
/6

4.
5”

K
08

06
45

8P
K

16
43

3.
3

26
%

21
,3

00

8.
25

”
L2

20
06

07
09

(6
%

)

st
oc

k 
3.

0”
*

st
oc

k 
16

80
m

m
12

62
80

26
 (G

M
)

st
oc

k 
90

 m
m

st
oc

k 
70

 m
m

st
oc

k

2.
8

6%
17

,9
00

2.
55

” p
re

ss
-o

n
L2

20
03

07
09

66
.0

”
K

08
06

60
8P

K
16

76
3.

2
25

%
21

,0
00

2.
55

” 1
0 

bo
lt

L2
20

30
07

09

2.
38

” 1
0 

bo
lt

L2
20

31
07

09
st

oc
k 

16
80

m
m

12
62

80
26

 (G
M

)

LP
E

 1
00

 m
m

,
0.

35
0”

 s
pa

ce
r,

M
10

x1
.5

x6
0m

m
ca

p 
he

ad
 s

cr
ew

3.
5

34
%

22
,5

00

8.
66

”
L2

20
07

07
09

(1
1%

)

st
oc

k 
3.

0”
*

67
.5

”
K

08
06

75
8P

K
17

15

st
oc

k 
90

 m
m

st
oc

k 
70

 m
m

st
oc

k

2.
9

11
%

18
,8

00

2.
55

” p
re

ss
-o

n
L2

20
03

07
09

67
.0

”
K

08
06

70
8P

K
17

02
3.

4
31

%
22

,1
00

2.
55

” 1
0 

bo
lt

L2
20

30
07

09

2.
38

” 1
0 

bo
lt

L2
20

31
07

09
67

.0
”

K
08

06
70

8P
K

17
02

3.
6

40
%

23
,7

00

9.
17

”
L2

20
17

07
09

(1
8%

)

st
oc

k 
3.

0”
*

68
.0

”
K

08
06

80
8P

K
17

27

st
oc

k 
90

 m
m

st
oc

k 
70

 m
m

LP
E

 
(L

22
06

36
50

9)

3.
1

18
%

19
,9

00

2.
55

” p
re

ss
-o

n
L2

20
03

07
09

67
.5

”
K

08
06

75
8P

K
17

15
3.

6
38

%
23

,4
00

2.
55

” 1
0 

bo
lt

L2
20

30
07

09

2.
38

” 1
0 

bo
lt

L2
20

31
07

09
67

.5
”

67
.0

” (
tig

ht
)

K
08

06
75

K
08

06
70

8P
K

17
15

 
8P

K
17

02
3.

9
48

%
25

,0
00

9.
55

”
L2

20
29

07
09

(2
3%

)

st
oc

k 
3.

0”
*

69
.0

”
K

08
06

90
8P

K
17

53

st
oc

k 
90

 m
m

st
oc

k 
70

 m
m

LP
E

(L
22

06
36

50
9)

3.
2

23
%

20
,7

00

2.
55

” p
re

ss
-o

n
L2

20
03

07
09

68
.5

”
68

.0
” (

tig
ht

)
K

08
06

85
K

08
06

80
8P

K
17

42
 

8P
K

17
27

3.
8

44
%

24
,3

00
2.

55
” 1

0 
bo

lt
L2

20
30

07
09

2.
38

” 1
0 

bo
lt

L2
20

31
07

09
68

.0
”

K
08

06
80

8P
K

17
27

4.
0

54
%

26
,0

00

10
.0

”
L2

20
38

07
09

(2
8%

)

st
oc

k 
3.

0”
*

70
.8

”
70

.0
” (

tig
ht

)
K

08
07

08
K

08
07

00
8P

K
17

97
8P

K
17

75

st
oc

k 
90

 m
m

st
oc

k 
70

 m
m

LP
E

(L
22

06
36

50
9)

3.
3

28
%

21
,7

00

2.
55

” p
re

ss
-o

n
L2

20
03

07
09

69
.6

”
69

.0
” (

tig
ht

)
K

08
06

96
K

08
06

90
(-

)
8P

K
17

53
3.

9
51

%
25

,5
00

2.
55

” 1
0 

bo
lt

L2
20

30
07

09

2.
38

” 1
0 

bo
lt

L2
20

31
07

09
69

.0
”

K
08

06
90

8P
K

17
53

4.
2

62
%

27
,3

00

9.
73

” 1
0 

rib
L2

20
45

07
09

(r
eq

ui
re

s 
10

 ri
b 

te
ns

io
ne

r p
ul

le
y)

2.
70

” 1
0 

rib

X
X

03
87

3-
00

04
(te

ns
io

ne
r 

pu
lle

y 
P

N
 

L2
20

62
07

09
)

67
.5

”
K

10
06

75
10

P
K

17
15

LP
E

 7
6 

m
m

, 
0.

35
0 

sp
ac

er
, 

M
10

x1
.5

x6
0m

m
 c

ap
 

he
ad

 s
cr

ew

LP
E

 7
6 

m
m

, 
0.

20
0 

sp
ac

er
, 

M
10

x1
.5

x6
0m

m
 c

ap
 

he
ad

 s
cr

ew

LP
E

(L
22

06
36

50
9)

3.
5

35
%

22
,8

00

M
ag

nu
so

n 
H

ea
rtb

ea
t w

ith
 

9.
17

”
L2

20
17

07
09

(1
8%

)

2.
95

” 8
 ri

b

In
cl

ud
ed

 w
ith

 
M

ag
nu

so
n 

LS
A 

TV
S

23
00

 
H

ea
rtb

ea
t K

it

68
.0

”
K

08
06

80
8P

K
17

27
-

-
LP

E
(L

22
06

36
50

9)
3.

1
N

/A
20

,1
00

S
up

er
ch

ar
ge

r s
pe

ed
s 

ab
ov

e 
23

,0
00

 R
P

M
 a

re
 n

ot
 re

co
m

m
en

de
d.

 T
o 

ca
lc

ul
at

e 
su

pe
rc

ha
rg

er
 s

pe
ed

, m
ul

tip
ly

 y
ou

r m
ax

im
um

 e
ng

in
e 

sp
ee

d 
by

 th
e 

pu
lle

y 
ra

tio
 v

al
ue

 li
st

ed
 a

bo
ve

.

P
ul

le
y 

ra
tio

s 
ab

ov
e 

35
%

 s
ho

ul
d 

on
ly

 b
e 

us
ed

 in
 a

pp
lic

at
io

ns
 w

ith
 p

ro
po

rti
on

al
ly

 lo
w

er
 m

ax
im

um
 e

ng
in

e 
sp

ee
ds

 (b
el

ow
 6

50
0 

R
P

M
).

Fo
r a

pp
lic

at
io

ns
 w

he
re

 th
e 

cr
an

k 
pu

lle
y 

di
am

et
er

 is
 g

re
at

er
 th

an
 o

r e
qu

al
 to

 9
.1

7”
, L

P
E

 id
le

r r
el

oc
at

io
n 

br
ac

ke
t (

P
N

: L
22

06
36

50
9)

 is
 re

qu
ire

d 
in

 o
rd

er
 to

 p
ro

vi
de

 e
no

ug
h 

cl
ea

ra
nc

e 
be

tw
ee

n 
th

e 
cr

an
k 

pu
lle

y 
an

d 
th

e 
lo

w
er

 id
le

r p
ul

le
y.

 F
or

 b
ea

rin
g 

du
ra

bi
lit

y 
re

as
on

s 
LP

E
 d

oe
s 

no
t r

ec
om

m
en

d 
us

in
g 

id
le

r p
ul

le
ys

 s
m

al
le

r t
ha

n 
70

m
m

.

A
n 

LP
E

 id
le

r p
ul

le
y 

is
 re

qu
ire

d 
fo

r t
he

se
 p

ul
le

y/
be

lt 
co

m
bi

na
tio

ns
.

*A
 s

to
ck

 d
ia

m
et

er
 1

0 
bo

lt 
pu

lle
y 

is
 a

ls
o 

av
ai

la
bl

e 
fro

m
 L

P
E

, P
N

 L
22

06
00

70
9

LS
A

 P
ul

le
y 

Sh
ee

t v
1.

3.
in

dd
30

-J
un

-2
01

5



Page

Lingenfelter Performance Engineering
1557 Winchester Road

Decatur, IN 46733
(260) 724-2552 

(260) 724-8761 fax
www.lingenfelter.com

L220636509 LSA idler pulley relocation bracket kit v1.3.indd

For additional product installation information and technical support, contact LPE or your LPE 
products distributor. You can also find technical support and usage discussions regarding 
this product and many other LPE products in our Internet forums:

	 http://www.lingenfelter.com/LPEforumfiles

6.	


